THERE WAS AND THERE WERE
WHAT IS IT?
The structure in English 'there was' and 'there were' is used to express quantity in the past. Let's see an example to understand what we refer to.
There was a woman in the park.
How is it?
We just need to keep in mind to use this structure whether we are talking about singular or plural as well as the correct form of the verb 'to be.'
AFFIRMATIVE: we use 'there was' when we talk in singular. However, if we talk in plural we use 'There Were'.
there was / were+ rest of sentence
There was a woman in the park.
There were two women in a café.
*Remember that this verb in Spanish is impersonal and there isn't any difference for singular and plural. In English if we make a distinction.
NEGATIVE: To make negation we use  the verb 'to be' adding the particle "not" after the verb or  with the contracted form.
there was not / Were not+ rest of sentence
There was not a woman in the park.
There Were not two women in a café.
*You can find the full form 'was not there' or 'There were not', but it is much more common the contracted form.
Interrogative: For the formation of questions we need to invest the verb 'to be' and the particle 'there', as shown in the example.
was / were + there + rest of sentence?
Was there a woman in the park?
Were there two women in a cafe?
SHORT ANSWER: To give short answers accordingly we use the verb 'to be' in the past, respecting whether it is singular or plural.
Yes, there was/ No, there was not
Yes, there were/ No, there were not
*We use the complete form in the affirmative responses, while we use the contracted form in negative responses.
What should I remember?
The important aspects that must be considered are the following.
It is important to know that the verb To Be can help us to understand the forms used at this time.
Remember that the verb 'to be' in Spanish is impersonal and therefore there is no difference between singular and plural. However, in English if we distinguish between singular and plural.
Remember that we cannot literally translate this structure, so it is important to recognize it to use it properly.
Sometimes you can see this structure with the name 'there to be', to refer to the verb 'to be' in general.
This verb is often combined with particles to indicate quantity.
